¢))

H1 3.000
( ) H2 0.400
( ) H3 0.400
( ) H4 0.100
( ) Bl 0.615
( ) B2 0.465
1 0.5 B3 1.500
B5 0.100
&)
Kh
®
y c 23
Y S 18.0
[0} 30.0
tang g 0.60
( ) gqa 100.00
10.0
( ) 0 30.000
( ) O 20.000
( 0 30.000
( )o 20.000
©)
X(m) Y (m) (kN/m?)
1.000 0.000 5.000
2.000 0.500
20.000 0.500 10.000

B BBBBEBEBEBE

N/
N/

N/
N/

H1

H2

H1

H2

B5

I

B1

H4

9

10 11 12 13

14 15



®)
s kN v N/m
yp= m xp = m
b,= m
U] U]
6
O = 21 N/mm’
Oca™ 7 N/mm’
T eq 0.7 N/mm’
0= 180 N/mm’
Ta 2.1 N/mm’
ca 0.26 N/mm’
7
1 2
(mm) (mm) (mm) t(mm) (mm?) U(mm)
(
( )2.00
8
a)
No X Y Xn+1 - Xn-1
1 0.000 0.000 -0.565 0.000
2 0.000 0.400 0.100 0.040
3 0.100 0.400 0.100 0.040
4 0.100 0.400 1.500 0.600
5 1.600 3.400 2.115 7.191
6 2.215 3.400 -1.035 -3.519
7 0.565 0.100 -1.650 -0.165
8 0.565 0.100 0.000 0.000
9 0.565 0.100 0.000 0.000 S
10 0.565 0.000 -0.565 0.000 ! 9 I
4.187
4187 12 2.094 m2 ‘ L
ye 2094  x23.00 48.162 kN A4
> i i 2/3 i)} > A4 i 13 i)}
e z )




@

a)
(kN) (m) (kN m)
48.151 1.057 50.895
48.151 50.895
b)
5= 20.000 ( ) B 10246 ( )
j= 26.565 ()
o= 43 ()
69.442 kN
10.322 kN
o ( *Ixsin@-¢) 19.042 kKN
cos(a -¢ -0 -f)
KA=2xPa/(ys h°) = 0.183
KH=Kaxcos(o ) = 0.182
KV=KaXxsin(o ) = -0.021

H1

H2 ‘ H3

-4

-2 -1



OK

(kN) (m) (kN m)
PH=1/2xh"2xysxKH 18.935 1.133 My=PHxY 21.453
PV=1/2xh"2xysxKV -2.185 1.082 Mx=PVxX -2.364

h : 3.400 m
PH :
PV :
by 45.966 kN
z 18.935 kN
M 27.078 kN
(M: )
2)
) 27.
e /2 / 0.565 7.078 -0.307 m
2 45.966
B:
e /6 0.094 m OK
3)
p  tanp B= 0.6
+ . . .
A N u+C B 45.966 x 0.60 5.650 1755 15

S H 18.935

4)
B1
d B2 e 0.5895 m
H1
B 0.565 m Ej
H2 | 3] 1 s,
2 25 /3 P‘\qz
q 0.000 kN/m?’
q> 51.983  kN/m’
ga 100 kN/m2 - 0K



3000

S )
1/3
H(m) w( ) W(KN) Q(kN) Pmax(kN) ()

0.300 450 0.405 0.000 0113 -0063 | oK
0.600 450 1,620 0.000 0.451 -0121| ok
0.900 450 3.645 0.000 1014 0175 oK
1.200 450 6.480 0.000 1.803 -0224 | oK
1,500 400 14,024 5.000 3.446 0289 | oK
1.800 430 16.699 5.000 5.180 -0322| ok
2100 450 19.867 5.000 6.921 0355 | 0K
2.400 470 22434 5.000 8.751 -0386 | oK
2.700 410 47.563 8312 11.183 0402 | oK
3.000 420 54.945 8.871 13.997 0407 [ oK
3.400 430 69.442 10.322 19.042 -0307 | oK

51.98 100.0 OK

1.76 1.50 OK




